Assignment : Fastener Academic year 2010 2103-203 Mechanical Drawings

Name ID CR No.

1) ms:qé’ﬂwmzmﬂﬁmuﬂﬁﬂm BINAL U AINTTNNIRNAN B U
A a2, . “ N 1 udw
AU LNeMIHaTUEIL MUUATTHE KIDANNTAREWN  &§Ifad

2) WszydanwinseandainuTevasidasiainioinzylugy

Clevis pin
Hex head bolt
Set screw
Snap ring
Washer
Castle nut
Cap screw
Rivet

Stud

Cotter pin 1
Wing nut

Socket head screw

FR-~EOmmUOwP.

11 12 13 14 17 18 19 20

J D L F A K H B/G G/B |

[To self] Add “Clevis pin” to Lecture Note.

3) WazyFevasibasfiaindufliluguninideluss wisnszymenafidiasfiainivisfiouus

' a A o A9 o > g o o A g a
ANNSRANINTUADY (Valh ZWF]ZLLHH?’IL%@NEJ?’]W’I,Z&I ‘m'Z.mwuuwmmzm’nwuau)

—_— “ = ( T ]
E

a T
i) ‘
i a [ a 7 Y
T RANLNALIRDIV (stud) 1 ey

wana _ tanlwidanisdsznauliassdunss

{ %9 turnbuckle Y
. 1 uau
LAANS T8l UMINITEY

http://commons.wikimedia.org/wiki/File:Lincoln_Highway, Gardiner,_Nebraska,_bridge_turn
buckle.JPG

T retaining ring, clip ring, snap ring, WAIWADA

LAANE HARIMUTENOUNIINA LA DAL AUII VL WILA AN

Mnne
9
1 1@y




Assignment : Fastener Academic year 2010

Name

2103-203 Mechanical Drawings

ID CR No.
o =1 a =) o I3 v = Qs %
4 Mludrdasiainaslrdndudasinabnilasnunisnaioad
n) AEHATRANEDT LD MTULTIRURELNEU 3AA1UAINALUDIUREADAN Ll
. HAw

Py o o = A a @ ) @
) Wiatlasnunsnaambasiianaslsannasanntadznavlyuds

o K a a A s =3 o A =S Qv/ v ] v a
a) miarfaindoy Waldiuusddluzaungannn axlagunulduinninianinly

) 98 1) uasta )

5) ms:q%aLmﬁ%'msaﬂé’waanavlﬂﬂ ganuMIAANBaIaa LUt

1

]
)

| Slotted nut
FPM36aad

a
INYEA

AUl A8 UTATUEIW LA LK NUUFaa split pin

' ' [y a ' o a ' . . a
N"I‘Hﬁ@\‘lLL‘]_]‘H;LT"I&U’JN’]%EL%']ZU%ﬁﬂﬂLﬂﬂEI’J 07921 split pin SLWQTBUN’JLLﬂ%

6) Two machine parts are to be held together using a M12 capscrew. The top part is 10 mm thick.

Both pieces are made of cast iron. Complete the following figure by sketching (in good proportion).

Determine if the washer is required in this case.

1 udu

1) Table 5: M12  A=15d,B=4P

2) Table 1: M12 d=12.00,p=1.75, or
A=18.0,B=7.0 mm.

3) Table 4: Washer is preferred/ ﬁi]‘ﬁiiilm, t=2.3

4) condition #1: tHL+A ~/

condition #2: b>A

t+L+A =2.3+10+18 = 30.3 Table 11: /=40 is OK.

Actual thread depth, A’ = [-L-t = 40-10-2.3=27.7 mm

Drill depth = A’+B+E = 27.7+7+7 = 41.7 mm.

Table 2: 14 mm clearance hole. (13, 14, or 15 mm)

Table 1: 10.20 mm tap drill.

Condition #2: continuous thread = OK. b =[.

Complete the following table.

Thread note for the capscrew:

M12x40 HEX CAP SCR (#24 M12 uaz SCR)

Thread note for the tapped hole:

10.2 Drill x 41.7 deep, M12 x 34.7 deep

[To self: Drill diameter/depth AFAAAINDIWIAITAW WA L2

Capscrew Tapped hole
The length of the capscrew 40 Drill diameter/depth 10.2 / 41.7 (min)
(mm) (mm/mm)
Threadlength (mm) 40 Thread depth (mm) 34.7 (min) / 7 %04
Clearance hole diameter for the top part (mm) 13,14, or 15

Y
7 U



Assignment : Fastener Academic year 2010 2103-203 Mechanical Drawings

Name 1D CR No.

7) Two parts are to be fastened by an M8 bolt (coarse thread), a nut (standard) and two plain
washers (one on each side). Both pieces are made of cast iron. The upper part is 20 mm thick and

the lower part is 22 mm thick. Complete the following figure by sketching (in good proportion).

1) To go through both pieces and washer and nut,

[=t +¢

top - tlmrtam - 2[\\'41.\'/731' nut - P

=1.6

washer

2) Table 4: Washer, ¢

Table 3: Nut (regular), 1 =6.5

nut

Table 1: MS. pitch, p=125

1=20+22+2(1.6) + 6.5+ 3%1.25=55.45 mm

3) Table 11: M8, [ =50/ 55/ 60, choose 55 (or 60)
1 udy 1,=33 (38) or b =22 mm but there is no real
consegeunce.

4) Table 2: M8, regular, clearance hole =9 mm. (8.4,

9, or 10 mm)

Complete the following table.

Bolt
The length of the bolt (mm) 55 or 60
Threadlength (mm) 22 Clearance hole diameter 8.4,9,0r 10
(mm)
Thread note for the bolt: M8x55 (or 60) HEX BOLT (A236iavf191 M8 uas BOLT 994
ASUUY)

FINASUHUNIRNA
7+8+5

= 20 udu



